180Hf

Based on

BE

Z =172

N =108

adopted link

ENSDF link

ensdf_240402 (Apr 2024), and mass evaluation from 2020

1446.288 ( 0.001) MeV
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180HF 264 | | | 4.138 264

180HF 265 | | 4.180 ar-) | 265

180HF 266 | 4.270 (16+) | | 266

180HF 267 | 4.324 (15+) | | 267

180HF 268 | | | 4.332 268

180HF 269 | | | 4.356 269

180HF 270 | | 4.413 ar-) | 270

180HF 271 | | | 4.423 271

180HF 272 | 4.682 18+ | | 272

180HF 273 | | | 4.808 273

180HF 274 | | | 4.853 274

180HF 275 | | | 4.916 275

180HF 276 | 4.924 (18+) | | 276

180HF 277 | | |  4.965 277

180HF 278 | | | 5.048 278

180HF 279 | | | 5.058 279

180HF 280 | 5.554 20+ I I 280

180HF 281 | 5.629 (20+) | I 281

180HF 282 | 5.666 (20+) | I 282

S-p = 8.010 ( 0.005) —--——-—-———- -—- -—- -—- -
S-n = 7.388 ( 0.002) ———mmm o
S-2p = 14.680 ( 0.007) -- - - e
S-2n = 13.487 ( 0.002) —--—-——-—-—-— -—- - -—- -
S-alpha= =1.287 ( 0.001) ====-mmmmmm e e e e e
S+p = -5.948 ( 0.002)

S+n = -5.695 ( 0.002)

S+2p = -13.045 ( 0.002)

S+2n = -12.413 ( 0.006)

S+alpha = 1.649 ( 0.002)

gap p 2.061 ( 0.006)

gap n = 1.693 ( 0.003)

gap 2p = 1.635 ( 0.007)

gap 2n = 1.074 ( 0.007)

gap alpha = 0.362 ( 0.002)



